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MATHS

BOOKS - NAGEEN MATHS (HINGLISH)

LINEAR INEQUALITIES

1. Solve the inequation 3z —8 < — 2 and

represent the solution on the number line when


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_vn38kd0K5HdH

Dz € R(i)x € Z

(i) z € N.

° Watch Video Solution

2. solve 2(2¢x+3)—-10<6(zx—2) and

represent this solution on real line.

o Watch Video Solution

3(x —2) 5(2 — x)

3. Solve the i ti — <
olve the inequation = < 3

and represent this solution on number line.

| e |



https://dl.doubtnut.com/l/_vn38kd0K5HdH
https://dl.doubtnut.com/l/_T0c097LUMMRZ
https://dl.doubtnut.com/l/_fJBwmv2OsDIw

| & Watch Video Solution

2z — 3

4
4. solve the inequation +9>3+ ?a:

and represent this solution on number line.

° Watch Video Solution

r +1

1
T+ 3 -

5. solve the inequation

° Watch Video Solution

r — 2
T+ 5

6. solve the inequation > 2.



https://dl.doubtnut.com/l/_fJBwmv2OsDIw
https://dl.doubtnut.com/l/_yJidEWESS5Js
https://dl.doubtnut.com/l/_Z5iW5S0OZ9vo
https://dl.doubtnut.com/l/_oJi08EnTevx0

Az c(—12, —5)
B.x € ( —12,5)
C.z € (5,12)

D. None of these

Answer: A

° Watch Video Solution

2 + 4

a’:_

7. solve the inequation > 5 and

represent this solution on the number line.

° Watch Video Solution



https://dl.doubtnut.com/l/_oJi08EnTevx0
https://dl.doubtnut.com/l/_yjBQEUCLbMOJ

8.solve: — — <

4<1
3 6

1 T
3= 2
A.[2,3)
B. (2,3)

C.(2,3]

D. [2,3]

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_yjBQEUCLbMOJ
https://dl.doubtnut.com/l/_T5GlA9GD2fXj

9.solve: |3z — 2| <1

° Watch Video Solution

10. Solve :

>1,x #3
3 7

O Watch Video Solution

| — 2

11. Solve: > 1, wherex € R,z # =+ 2.

0 Watch Video Solution



https://dl.doubtnut.com/l/_oVrlt0NL85Rx
https://dl.doubtnut.com/l/_qPqkt1OriBLT
https://dl.doubtnut.com/l/_UkOL8E0wJrSV
https://dl.doubtnut.com/l/_CxmjsJIDEAD0

12.solve: |t — 2| + |z — 4] > 8

Ax € (— o0, —1 U7, 00)
B.x € ( — 00, 3] U|[7, )
Cxe (-7 —1 U7 0)

D.x € |7, 00)

Answer: A

° Watch Video Solution

r — 1

13.solve:
r+1



https://dl.doubtnut.com/l/_CxmjsJIDEAD0
https://dl.doubtnut.com/l/_JWQL2oGHhN05

‘ ° Watch Video Solution

14. Find all pairs of consecutive even numbers

which are greater than 8 and their sum is

smaller then 27.

A.(-10,12)and (12,14)

B.(10,12)and (12,-14)

C.(10,24 )and (12,14 )

D.(10,12) and (12,14 )

Answer: D



https://dl.doubtnut.com/l/_JWQL2oGHhN05
https://dl.doubtnut.com/l/_0uU1eRgYDqlF

‘ o Watch Video Solution

15. A student scores 65, 62 70 marks is 3
subjects. Find the minimum marks scored by him

in 4th subject to get an average of 64 minimun.

° Watch Video Solution

16. The largest side of a triangle is twice the
smallest side. Its largest side is 3 cm more than

the third side. Find the minimum length of the


https://dl.doubtnut.com/l/_0uU1eRgYDqlF
https://dl.doubtnut.com/l/_TlzXUFrDPbkc
https://dl.doubtnut.com/l/_lwNpfcXFJkJ9

smallest side if the minimum perimeter of the

triangle is 62 cm.

° Watch Video Solution

17. 1Q of a person is given by the formula

MA
IQ =
@ CA

CA = chronological age. If 1Q for a group of 10

x 100 where MA = mental age and

years children is given by the inequation
70 < IQ) < 140, find the range of their mental

age.

° Watch Video Solution



https://dl.doubtnut.com/l/_lwNpfcXFJkJ9
https://dl.doubtnut.com/l/_4Cv3tS636m8Y

18. A solution is to be kept between
59°F and 77° F. What is the range of
temperature in degree celcius (C) if the Celcius-

farhenheit conversion formula is:

9
F:gC—i—SZ

° Watch Video Solution

19. A manufacturer has 600 liters of 12% solution
of acid. How many litres of a 30% acid solution

must be added to it so that the acid content in


https://dl.doubtnut.com/l/_hKW0P9H0c9Rv
https://dl.doubtnut.com/l/_nsl76ngY76dA

the resulting mixture will be more then 15% but

less than 18%?

° Watch Video Solution

20. Solve the following inequation graphically:

2¢ + 3y < 6

o Watch Video Solution

21.solve the inequation 2z — y > 3 by graphical

method.

| o |


https://dl.doubtnut.com/l/_nsl76ngY76dA
https://dl.doubtnut.com/l/_gT75P2IMMfmS
https://dl.doubtnut.com/l/_2fypBBi6TzMM

[ & Watch Video Solution ]

22.Solve the inequation = 4+ y < 5 by graphical

method.

° Watch Video Solution

23. solve the following system of inequation by
graphical method:

20 + 3y < 6,3z + 2y <6,z >0,y >0

° Watch Video Solution



https://dl.doubtnut.com/l/_2fypBBi6TzMM
https://dl.doubtnut.com/l/_BEsvtobAvfWC
https://dl.doubtnut.com/l/_GGxv6jA7sLSi
https://dl.doubtnut.com/l/_h9u3sKr0yDZb

24. solve the following system of inequation by

graphical method : 5z + 4y < 40,z > 2,y > 3

° Watch Video Solution

1. Solve the inequation 3z — 2 <5 If (i) x € N
(i) x € R and represent the solution on the

number line

o Watch Video Solution



https://dl.doubtnut.com/l/_h9u3sKr0yDZb
https://dl.doubtnut.com/l/_JJ06I7jP5WNR

2. Solve the inequation 12z < 50 If (i) x € Z (ii)
X € R and represent the solution on the

number line

° Watch Video Solution

3. Solve the inequation 3z +8 > 2If (i) x € N
(i) X € R and represent the solution on the

number line

0 Watch Video Solution



https://dl.doubtnut.com/l/_slRysuznnPli
https://dl.doubtnut.com/l/_No6B98FvGLjH

4. Solve the inequation 6z — 5 < 7T If (i) x € |
(i) x € R and represent the solution on the

number line

° Watch Video Solution

5. Solve the inequation 30x < 200 If (i) x € Z
(i) x € N and represent the solution on the

number line

° Watch Video Solution



https://dl.doubtnut.com/l/_9gA6bIzv3S3V
https://dl.doubtnut.com/l/_a2ZcwcRKdXuQ

6. Solve the inequation 5z — 5 < — 5 If (i) x €
z (ii) zin R and represent the solution on the

number line

° Watch Video Solution

7.Solve the inequation 3z — 7 < 5z — 3If x €

R and represent the solution on the number line

o Watch Video Solution



https://dl.doubtnut.com/l/_83GIYrxwpX3k
https://dl.doubtnut.com/l/_4i7FRpDRA3Td

8.Solve the inequation 3(z — 1) < 2(z — 3) If x
€ R and represent the solution on the number

line

° Watch Video Solution

9.Solve the inequation bz — 2 > 3z — 1Ifx €

R and represent the solution on the number line

° Watch Video Solution



https://dl.doubtnut.com/l/_rb8i7tNZ8Pqj
https://dl.doubtnut.com/l/_5g0UMSPi3r1R

10. Solve the inequation 2z + 5 > — 5z + 12 If
X € R and represent the solution on the

number line

° Watch Video Solution

5 — 2x
11. Solve :

T
5 < —
+_6

° Watch Video Solution

— 4 1
12. solve : 3z -+ Tt



https://dl.doubtnut.com/l/_zBVlDjGkjVqY
https://dl.doubtnut.com/l/_xR1oUnT4ypbM
https://dl.doubtnut.com/l/_CbwzIBErbjcP

A.[1, o0)

B. [2, 00)

C.[3, o0)

D. [4, 00)

Answer: A

° Watch Video Solution

3z
13. Solve : 3(? + 4) > 2(xz — 6)

A ( — oo, 120]


https://dl.doubtnut.com/l/_CbwzIBErbjcP
https://dl.doubtnut.com/l/_M4nF1vYrg11F

B.( — 00, — 120]
C.( — o0, 12]

D. None of these

Answer: A

O Watch Video Solution

14. Solve the inequalities for real x

z (5z—2) (Tz—3)
7

° Watch Video Solution



https://dl.doubtnut.com/l/_M4nF1vYrg11F
https://dl.doubtnut.com/l/_iDTZJXeU4W0X
https://dl.doubtnut.com/l/_OjCMzYPOC2Ti

> 5:1:—8_ Tr — 13

T
olve 5 3 5

0 Watch Video Solution

8 — 3x
>

T
16. Solve : —
olve 6 2

+4

° Watch Video Solution

x x
olve: x + 5 + 3 >

Az >4

B.x >5


https://dl.doubtnut.com/l/_OjCMzYPOC2Ti
https://dl.doubtnut.com/l/_4luFkUewffNj
https://dl.doubtnut.com/l/_0iV7ZgKOxkIM

Cx >0

D.z > 7

Answer: C

° Watch Video Solution

18. Solve : — <1

° Watch Video Solution

19.Solve : 2(5bz — 7) > 3(4x — 5)


https://dl.doubtnut.com/l/_0iV7ZgKOxkIM
https://dl.doubtnut.com/l/_Ft9qwu8zHjii
https://dl.doubtnut.com/l/_yCjAPYL5ur8x
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D. None of these

Answer: B

° Watch Video Solution

5% dr — 1
olve 1 ~ 3

° Watch Video Solution



https://dl.doubtnut.com/l/_yCjAPYL5ur8x
https://dl.doubtnut.com/l/_sVAPLpjyMS1Z

Sbr — 2 —
21.Solve : v dz — 1

3 S~ 3

° Watch Video Solution

€T €T
22.Solve: — — 1 — +2
olve 1 <5—|—

° Watch Video Solution

23.Solve : <0

m_

° Watch Video Solution



https://dl.doubtnut.com/l/_rqwl43MAvP0B
https://dl.doubtnut.com/l/_Dj0dLbbwQbmg
https://dl.doubtnut.com/l/_DxyR6xnKIsm7
https://dl.doubtnut.com/l/_5lbp54wSvqkw

r—1
T — 2

24.Solve : > 1

° Watch Video Solution

25. Solve : >0

T+ 3
A. (2,3)
B. (5, 00)
C. (3, o0)

D.(— 3, )

Answer: D

[ -


https://dl.doubtnut.com/l/_5lbp54wSvqkw
https://dl.doubtnut.com/l/_VC2vCKgz0nfR

| @ Watch Video Solution

T + 2

26. Solve :
r+1

A.(—o0, —2)U( -1, 00)
B.(—2, —1)
C.R

D. None of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_VC2vCKgz0nfR
https://dl.doubtnut.com/l/_CWmM63HFXQnC
https://dl.doubtnut.com/l/_tzTg2x2tzBcr

2¢ — 1
<

27.Solve :
T + 2

° Watch Video Solution

28.Solve:z +2 >0 and 2z —5 <0

0 Watch Video Solution

29.Solve:5 — 2z < 11 and 4z —3 > 9

0 Watch Video Solution



https://dl.doubtnut.com/l/_tzTg2x2tzBcr
https://dl.doubtnut.com/l/_d26YZgBO20CX
https://dl.doubtnut.com/l/_ZIGyEjIy85Gp
https://dl.doubtnut.com/l/_MUrTpxm1Ffb3

30. Solve

%% e — 1 2¢ + 1
4
1 > 3 and 4z + 3 < 3

° Watch Video Solution

2¢ — 1 1 11
<2+ =< —+=x

31.Solve :
olve 5 5 5

° Watch Video Solution

32.50lve: 6 < — 3(2r — 4) < 12

° Watch Video Solution



https://dl.doubtnut.com/l/_MUrTpxm1Ffb3
https://dl.doubtnut.com/l/_CO6IrEAF8TSr
https://dl.doubtnut.com/l/_GANX1Y509yD0
https://dl.doubtnut.com/l/_DFajO45LEjMA

3x
33.Solve: —12 < 4 + 5 < 2

0 Watch Video Solution

34.Solve: [z — 3| <1

Answer: N/a



https://dl.doubtnut.com/l/_DFajO45LEjMA
https://dl.doubtnut.com/l/_qxirVYm7cNft

° Watch Video Solution

35.5olve: |z + 2| < 3

° Watch Video Solution

36.Solve: |2z — 1| > 2

° Watch Video Solution

1
37.So|ve:|2 1‘§3,w7é1/2

| o


https://dl.doubtnut.com/l/_qxirVYm7cNft
https://dl.doubtnut.com/l/_NOsaIZUBPIkQ
https://dl.doubtnut.com/l/_twkTj1aScwe2
https://dl.doubtnut.com/l/_G6VvXlN5z6Z1

| W Watch Video Solution

38. Solve :

|>1,:C7é3

x — 3
A[1,5] U (-1, 00)
B.(1,5) U[ — 1, 00)
C. (1,5 U ( — 1, 00)

D.(1,5) U ( — 1, 00)

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_G6VvXlN5z6Z1
https://dl.doubtnut.com/l/_QjdP6kG8YqDo
https://dl.doubtnut.com/l/_Cg8qJiIhJg35

| — 1

2 >0,z # £2

39. Solve :

° Watch Video Solution

x + 4| +
40. Solve : >1l,x# —1
z+1

A(—5 —3)U(—1,00)
B.(—5, —3)U[—1,00)
C.(—5 —3U(—1,00)

D.(—5, —3)U(1,o0)

Answer: A



https://dl.doubtnut.com/l/_Cg8qJiIhJg35
https://dl.doubtnut.com/l/_woYHzj81OkgB

l 0 Watch Video Solution

41.5olve: |z — 1| + |z — 2| > 3

0 Watch Video Solution

42.Solve: |z — 1|+ |z — 2|+ |z — 3| > 6

° Watch Video Solution

43.5olve: |x — 3| + |x — 5] > 9

| &


https://dl.doubtnut.com/l/_woYHzj81OkgB
https://dl.doubtnut.com/l/_kPIVzPSDrWHf
https://dl.doubtnut.com/l/_ZIUIXwF4NZ9l
https://dl.doubtnut.com/l/_JuTG0d9TIYno

[ W Watch Video Solution ]

44, Find all pairs of consecutive odd integers
both of which are smaller than 12 and their sum

is more than 11.

° Watch Video Solution

45. Find all pairs of consecutive even integers
both of which are greater than 7 and their sum

is less than 25.

° Watch Video Solution



https://dl.doubtnut.com/l/_JuTG0d9TIYno
https://dl.doubtnut.com/l/_FAvqti6vasHm
https://dl.doubtnut.com/l/_qc36vNBk6Mbd

46. Find all pairs of consecutive even integers
both of which are greater than 6 and their sum

is less than 27.

o Watch Video Solution

47. A student obtained 60, 62, 64 and 66 marks
in 4 subjects in an examination. Find the
minimum marks he should get in 5th subject to

have an average of at least 65 marks.


https://dl.doubtnut.com/l/_qc36vNBk6Mbd
https://dl.doubtnut.com/l/_XPskAll0kxk9
https://dl.doubtnut.com/l/_Y9duAuR9FTwe

A. 75

B.73

C. 72

D. 74

Answer: B

° Watch Video Solution

48. A student obtained 62 and 48 marks in the
first and secound examinations of class XI. Find

the minimum marks he should get in annul


https://dl.doubtnut.com/l/_Y9duAuR9FTwe
https://dl.doubtnut.com/l/_gJwnDkneXUU0

examination to have an average of at least 60

marks.

o Watch Video Solution

49, The water aciditiy in a pond is considered
normal when the average pH reading of three
daily measurement is between 71 and 7.8. If the
first two pH readings are 7.25 and 7.8,find the
range of pH of the water of the pond for the 3rd
reading that will result in the acidity level being

normal.

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_gJwnDkneXUU0
https://dl.doubtnut.com/l/_pf5UEgZSpZXx

50. The longest side of a triangle is three times
the shortest side and the third side is 2 cm
shorter than the longest side if the perimeter of
the triangles at least 61 cm, find the minimum

length of the shortest side.

o Watch Video Solution

51. A man wants to cut three lengths from a
single piece of board of length 91 cm The second

length is to be 3 cm longer than the shortest


https://dl.doubtnut.com/l/_pf5UEgZSpZXx
https://dl.doubtnut.com/l/_lJkzKCwYROnv
https://dl.doubtnut.com/l/_2627WkjczpFL

and the third length is to be twice as long as the
shortest. What are the possible lengths of the

shortest board?

o Watch Video Solution

52. A solution is to be kept between
50° F' and 68° F. What is the range of
temperature in degree celcius if Celcius-
farhenheit conversion formual Is

9
F:€C+32

° Watch Video Solution



https://dl.doubtnut.com/l/_2627WkjczpFL
https://dl.doubtnut.com/l/_x7yUldQ6rRWu

53. A solution is to be kept between
40°C and 60°C. What is the range of
temperature in farhenheit if Celcius-farhenheit

conversion formual is : ' = EC + 32

o Watch Video Solution

54. How many litres of water will have to be
added to 1125 litres of the 45% solution of acid
so that the resulting mixture will contain more

than 25% but less than 30% acid content?


https://dl.doubtnut.com/l/_ByP9Oac1pCtW
https://dl.doubtnut.com/l/_5HsHmIF26dR7

A .x > 562.5 and =z < 900

B.x > 565.5 and = < 800

C.z > 600 and = < 900

D.z > 562.5 and =z < 700

Answer: A

° Watch Video Solution

55. A solution of 8% boric acid is to be diluted by
adding a 2% boric acid solution to it. The

resulting mixture is to be more than 4% but less


https://dl.doubtnut.com/l/_5HsHmIF26dR7
https://dl.doubtnut.com/l/_qFq6k5JvsRze

than 6% boric acid. If we have 640 litres of the
8% solution, how many litres of the 2% solution
will have to be added?

A. (320, 1270)

B. (340, 1260)

C. (320, 1280)

D. (300, 600)

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_qFq6k5JvsRze

56. If the cost and revenue function of a product
are respectively C(x) = 5x + 700 and R(x) = 15 x +
100 , where 'x' is the number of products then

what will be the value of 'x' to get profit ?

A. 50

B. 60

C.70

D. 80

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_yEyIZZSsijB1

57.2x + 5y > 10

=X


https://dl.doubtnut.com/l/_yEyIZZSsijB1
https://dl.doubtnut.com/l/_XGcQrTLp6YRf



https://dl.doubtnut.com/l/_XGcQrTLp6YRf

D. None of these

Answer: A

° View Text Solution

58.z — 2y < 4

° View Text Solution

5.2 + 4y > 8

° View Text Solution



https://dl.doubtnut.com/l/_XGcQrTLp6YRf
https://dl.doubtnut.com/l/_LtUKTukN4buo
https://dl.doubtnut.com/l/_gLtECMje8eTo

60.3y — 5 < 15

° View Text Solution

6.2z +y >0

° View Text Solution

62.2x +y< 6,z +2y<8z>0,y>0

° Watch Video Solution



https://dl.doubtnut.com/l/_gLtECMje8eTo
https://dl.doubtnut.com/l/_mezWnA6bLTwd
https://dl.doubtnut.com/l/_Qaaoce2x2naC
https://dl.doubtnut.com/l/_Nswl3l7UYiFa

63. Solve the following system of inequations
graphically

r+y<10,z+3y <15,z >0,y >0

° Watch Video Solution

64.

r+y<10,4dx+3y< 24,z > ,2>0,y>0

° Watch Video Solution

65.z +2y <40,2x +y <40,z >0,y > 0


https://dl.doubtnut.com/l/_UFLmuTeMso51
https://dl.doubtnut.com/l/_ZCTxO7w3B3Rx
https://dl.doubtnut.com/l/_JZiNxU2QegaZ

° Watch Video Solution

66.2r +y>6,x+2y>8xz>0,y>0

° Watch Video Solution

67.x +2y<3,3x+4y>12,z >0,y > 1

° Watch Video Solution



https://dl.doubtnut.com/l/_JZiNxU2QegaZ
https://dl.doubtnut.com/l/_Rde6LJRrn12m
https://dl.doubtnut.com/l/_MzgSbUyxfR5U

68.

z+2y<10,z4+y>l,z—y<0,z>0,y>0

° Watch Video Solution

69.3r +4y <60,z > 2y, z > 1,y >0

° Watch Video Solution

70.3x +2y < 6,z > 1,y > 2

° Watch Video Solution



https://dl.doubtnut.com/l/_HhNjNuliGlt4
https://dl.doubtnut.com/l/_qjiBrZ3TF1GV
https://dl.doubtnut.com/l/_rgnKfSiaEeGG

71. The solution set of

z+y<9%9z>y x>0

0 Watch Video Solution

72.:13—y§2,:c—|—y§4,a:20,y2

0 Watch Video Solution

By—2zr<l,z+y<2,2>0,y>0

° Watch Video Solution



https://dl.doubtnut.com/l/_rgnKfSiaEeGG
https://dl.doubtnut.com/l/_rV8dk6xUY0tt
https://dl.doubtnut.com/l/_OIjb7bqaP8mr
https://dl.doubtnut.com/l/_2Ambherobw4E

742z —y > 1,2y —x > 1

° View Text Solution

75.¢c+y>24,2x +y>32,z >0,y >0

° View Text Solution

76.

2t +y>2,z—y<l,z+2y<8x>0,y>0


https://dl.doubtnut.com/l/_2Ambherobw4E
https://dl.doubtnut.com/l/_awwyOz2cFYrX
https://dl.doubtnut.com/l/_9b70syyxYTai
https://dl.doubtnut.com/l/_EeRXSp74xeYk

° View Text Solution

Ncert Question

1. Solve 24x < 100, when (i) x is a natural

number. (ii) x is an integer.

° Watch Video Solution



https://dl.doubtnut.com/l/_EeRXSp74xeYk
https://dl.doubtnut.com/l/_k8z0gSV79F3V

2.Solve 12z > 30, when (i) x is a natural

number. (ii) x Is an integer

° Watch Video Solution

3.Solve 5z — 3 < 7, when (i) x is integer. (ii) x is

a real number.

° Watch Video Solution

4. Solve 3z + 8 > 2, when (i) x is an integer. (ii) x

is a real number.


https://dl.doubtnut.com/l/_TuAAFGYilkx2
https://dl.doubtnut.com/l/_K7SfpefOnd4M
https://dl.doubtnut.com/l/_djUCbMacnLbT

° Watch Video Solution

5. solve the inequalities for real x

dr +3 < bx + 7

° Watch Video Solution

6. solve the inequalities for real x

3r —7>b6xr —1

° Watch Video Solution



https://dl.doubtnut.com/l/_djUCbMacnLbT
https://dl.doubtnut.com/l/_uz9b28Azg4is
https://dl.doubtnut.com/l/_YwLeq5HD3z9w
https://dl.doubtnut.com/l/_zU7VxzJFIYqB

7. solve the inequalities for real x

3(x—1) <2(x —3)

0 Watch Video Solution

8. solve the inequalities for real x

3(2—x) >2(1—x)

° Watch Video Solution

9. solve the inequalities for real x

T T
— 4+ — 11
:13+2—|—3<



https://dl.doubtnut.com/l/_zU7VxzJFIYqB
https://dl.doubtnut.com/l/_GvoKOjH5ZGiP
https://dl.doubtnut.com/l/_TZYxH1EiAdtq

I @Y Watch Video Solution I

10. solve the inequalities for real x % > % + 1

° Watch Video Solution

1. solve the inequalities for real x

3(x — 2) - 5(2 — x)
5 - 3

° Watch Video Solution



https://dl.doubtnut.com/l/_TZYxH1EiAdtq
https://dl.doubtnut.com/l/_lUF1uC3ZshHl
https://dl.doubtnut.com/l/_pYlGzl3NEatS

12. solve the inequalities for real x
1/ 3z La) > 1( 6)
2\5 T4 =3

° Watch Video Solution

13. solve the inequalities for real x

2(2x + 3) — 10 < 6(z — 2)

° Watch Video Solution

14.37 — (32 +5) > 92 — 8(x — 3)

| &N


https://dl.doubtnut.com/l/_Xe9InOSmwF0f
https://dl.doubtnut.com/l/_CLOG8CDMRL8u
https://dl.doubtnut.com/l/_jdFw1szCg2gL

| ' Watch Video Solution

z (5z—2) (7z—3)

° Watch Video Solution

6. (2 — 1) - (3z — 2) B (2 —z)

3 - 4 5

° Watch Video Solution

17.3z — 2 < 2x +1

I ° Wiat A \NtAaAaA CAliikian


https://dl.doubtnut.com/l/_jdFw1szCg2gL
https://dl.doubtnut.com/l/_KOuhOnrKdhMs
https://dl.doubtnut.com/l/_btrvKOvXF0MT
https://dl.doubtnut.com/l/_sxNRZom3SHdg

18.52 —3 > 3x — 5

° Watch Video Solution

19.3(1 — z) < 2(z + 4)

o Watch Video Solution

(52 —2) (Tz —3)

I
20. - >
2~ 3 5

° Watch Video Solution



https://dl.doubtnut.com/l/_sxNRZom3SHdg
https://dl.doubtnut.com/l/_0kL6w726MadP
https://dl.doubtnut.com/l/_FgxU95kzgzPr
https://dl.doubtnut.com/l/_3LQPF8lmnlyB

21. Find the minimun marks he sholud get in the
third test to have an average of at least 60

marks .

o Watch Video Solution

22. To receive Grade 'A' in a course, one must
obtain an average of 90 marks or more in five
examination (each of 100 marks ). If Sunita's

marks in first four examination are 87, 92, 94 and


https://dl.doubtnut.com/l/_3LQPF8lmnlyB
https://dl.doubtnut.com/l/_1tVw3SjtXfCL
https://dl.doubtnut.com/l/_4cMJJ5wOQIs8

95, find minimum marks that Sunita must abtain

in fifth examination to get grade 'A' in the cours.

° Watch Video Solution

23. Find all pairs of consecutive add positive
integers both of which are smaller than 10 such

that their sum is more than 11,

° Watch Video Solution



https://dl.doubtnut.com/l/_4cMJJ5wOQIs8
https://dl.doubtnut.com/l/_kf3DEmnVpi3C

24. Find all pairs of consecutive even positive
intergers, both of which are larger than 5 such

that their sum is less than 23.

° Watch Video Solution

25. The longest side of a triangle is 3 times the
shortest side and the third side is 2 cm shorter
than the longest side. If the perimeter of the
triangle is least 61 cm, find the minimum length

of the shortest side.

° Watch Video Solution



https://dl.doubtnut.com/l/_ZSxBvYHHCyFS
https://dl.doubtnut.com/l/_nG9XoLYsqIzv

26. A man wants to cut three lenghts from a
single piece of board of length 91 cm . The
secound length is to be 3 cm longer than the
shortest and the third length is to be twice as
long as the shortest. What are the possible
lengths of the shortest board if the third piece
is to be at least 5 cm longer than the second?

[Hint : If x is length of the shortest board, then x,
( x+3) and 2x are the lengths of the second and

third piece, respectively. Thus ,


https://dl.doubtnut.com/l/_nG9XoLYsqIzv
https://dl.doubtnut.com/l/_4KAibtNZsA9l

z+ (x+3)+3x <91 and 2z > (z + 3) + 5]

o Watch Video Solution

27.x +y <5

o Watch Video Solution

28.2x +y > 6

° Watch Video Solution



https://dl.doubtnut.com/l/_4KAibtNZsA9l
https://dl.doubtnut.com/l/_ABGsczU4s5BW
https://dl.doubtnut.com/l/_ZAVoDgO7Y7oF
https://dl.doubtnut.com/l/_Gd0cfW5047hH

29. 3z + 4y < 12

° Watch Video Solution

30.y + 8 > 2z

° Watch Video Solution

3l —y<2

° Watch Video Solution



https://dl.doubtnut.com/l/_Gd0cfW5047hH
https://dl.doubtnut.com/l/_5IWn1hsUfplb
https://dl.doubtnut.com/l/_ryarouu3c8Xl
https://dl.doubtnut.com/l/_nfMimoC4JCta

322 — 3y > 6

o Watch Video Solution

33. -3z +2y > —6

o Watch Video Solution

34.3y — 5z < 30

o Watch Video Solution



https://dl.doubtnut.com/l/_nfMimoC4JCta
https://dl.doubtnut.com/l/_DthnEMYMEfAr
https://dl.doubtnut.com/l/_e7qbaejfMgJi

35,y < — 2

o Watch Video Solution

36.z > — 3

o Watch Video Solution

37.x > 3,y > 2

° Watch Video Solution



https://dl.doubtnut.com/l/_x5ZdZBquWtXC
https://dl.doubtnut.com/l/_FHZ95x3Gqlpz
https://dl.doubtnut.com/l/_6QlMmTPj8AMX
https://dl.doubtnut.com/l/_WHtKeQ1lTW5K

38.3x +2y < 12,z > 1,y > 2

° Watch Video Solution

39.2z +y > 6,3z + 4y < 12

° Watch Video Solution

40.x +y>4,2z —y <0

O View Text Solution



https://dl.doubtnut.com/l/_WHtKeQ1lTW5K
https://dl.doubtnut.com/l/_Djx6SD1K4Hon
https://dl.doubtnut.com/l/_9AVhSKWBYeVv

41220 —y> 1,z — 2y <1

° Watch Video Solution

42.z+y<6,z+y<4

° Watch Video Solution

43.2x +y > 8,z + 2y > 10

° Watch Video Solution



https://dl.doubtnut.com/l/_euUlMC1swaoT
https://dl.doubtnut.com/l/_klEbHY2TnHmH
https://dl.doubtnut.com/l/_IWIMWDxPoyaD
https://dl.doubtnut.com/l/_BiJzvaQY3jIt

4.+ y< 9,z >y, >0

° Watch Video Solution

45.5¢ +4y < 20,z > 1,y > 2

° Watch Video Solution

46.3r + 4y < 60,z +3y <30,z >0,y >0

O Watch Video Solution



https://dl.doubtnut.com/l/_BiJzvaQY3jIt
https://dl.doubtnut.com/l/_luYWpKaMHHui
https://dl.doubtnut.com/l/_Rm6N3d8bv4Em

47.2z +y> 4,z +y < 3,2z —3y <6

° View Text Solution

48.x +2y < 3,3z +4y > 12,2 > 0,y > 1

° Watch Video Solution

49.4r + 3y < 60,y > 2z, > 3,z,y > 0

° View Text Solution



https://dl.doubtnut.com/l/_rOCr80dzkt9e
https://dl.doubtnut.com/l/_z964eeJicvKM
https://dl.doubtnut.com/l/_POc9mKtGxN35
https://dl.doubtnut.com/l/_Bo7xJOVa44MO

50.

3z + 2y <150,z +4y < 80,z <15, y>0,z > 0

° View Text Solution

Sl

r+2y<10,z+y>l,z—y<0,x>0,y>0

° View Text Solution

Miscellaneous Exercise


https://dl.doubtnut.com/l/_Bo7xJOVa44MO
https://dl.doubtnut.com/l/_e66gXoyf6Wds

1.2<3z—-4<5

o Watch Video Solution

2.6 < —3(2c —4) < 12

° Watch Video Solution

3.—3§4—77w§10

° Watch Video Solution



https://dl.doubtnut.com/l/_QwUNyfM7thOU
https://dl.doubtnut.com/l/_6TWxgRNpDKqz
https://dl.doubtnut.com/l/_hbaTaCENaPtE
https://dl.doubtnut.com/l/_Qd3YBSltwyyP

X
4, -15< —— <0

° Watch Video Solution

3
5.—12<4—_—5 < 2

° Watch Video Solution

3 + 11
6.7 < ( 5 ) <11

0 Watch Video Solution



https://dl.doubtnut.com/l/_Qd3YBSltwyyP
https://dl.doubtnut.com/l/_KXo5sWUFr6UV
https://dl.doubtnut.com/l/_Ai9JucMJqDOQ
https://dl.doubtnut.com/l/_AgxyESSe40Pg

750 +1> —24 5z — 1< 24

° Watch Video Solution

8.2(X-1)<X+53X+2) >2—-X

° Watch Video Solution

9.3z —7>2(z —6),6—z > 11— 2z

° Watch Video Solution



https://dl.doubtnut.com/l/_AgxyESSe40Pg
https://dl.doubtnut.com/l/_wtgLIP0e0p2L
https://dl.doubtnut.com/l/_0CtTOLesA0R9

10.

52z — 7) — 3(2z 4+ 3) < 0,2z + 19 < 6z + 47

° Watch Video Solution

11. A solution is to be kept between 680F'and
77oF. What is the range in temperature in
degree Celsius (C) if the Celsius / Fahrenheit (F)

conversion formula is given byF' = EC + 327

° Watch Video Solution



https://dl.doubtnut.com/l/_OkPEEOzVGYxa
https://dl.doubtnut.com/l/_DwOL6wXWq9bj

12. A solution of 8% boric acid is to be diluted by
adding a 2% boric acid solution to it. The
resulting mixture is to be more than 4% but less
than 6% boric acid. If we have 640 litres of the
8% solution, how many litres of the 2% solution

will have

o Watch Video Solution

13. How many litres of water will have to be

added to 1125 litres of the 45% solution of acid


https://dl.doubtnut.com/l/_PR6utpDdVaAX
https://dl.doubtnut.com/l/_mlwGd2HBnUys

so that the resulting mixture will contain more

than 25% but less than 30% acid content?

° Watch Video Solution

14. 1Q of a person is given by formula: 1Q

MA
CA

CA is chronological age. If 80 < IQ) < 140 for a

x 100, where M A is mental age and

group of 12 year children, find the range of their

mental age.

o Watch Video Solution



https://dl.doubtnut.com/l/_mlwGd2HBnUys
https://dl.doubtnut.com/l/_4nCWgf6mzwQT

